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KE2 – tpdhtq;fp  04 

 

FWfpa tpil tpdhf;fs; 

 

tpdh 01 

xUth; Rakhf GJg;gpf;Fk; tifapy; (renewable automatically) &gh 100,000  ,id  

tq;fpapy; 6-khj epiyahd itg;gpy; ,l;lhh;. ,e;j itg;GkPJ tq;fp Mz;bw;F 8% tl;b 

nrYj;Jk;. 3Mz;L Kbtpy; ,e;j itg;gpd; kPsg;ngWk; ngWkjpia fzpf;Ff.    

tpdh 02  

2015 brk;gupy; eilngw;w xU guPl;irapy; rpj;jpailaj; jtwpNahh; 2015 [™d; khjk; 

eilngw;w guPl;irapy; rpj;jpailaj; jtwpNahUld; xg;gpLk;NghJ 20% mjpfupg;ig 
fhl;baJ. 2015 brk;gh; khjg; guPl;irapy; Njhw;wpa 400 guPl;rhh;j;jpfspy; 160 
guPl;rhh;j;jpfs; rpj;jpaile;jdh;. 2015 [™d; khj guPl;irf;F Njhw;wpNahh; vz;zpf;if 440 
MFk;. 2015 [™d; khjg; guPl;irapy; rpj;jpaile;Njhh; vz;zpf;ifia fzpf;Ff.    

 

tpdh 03 

xU tq;fp 3- khj epiyahd itg;Gf;fSf;F Mz;bw;F 12% tl;b nrYj;Jfpd;wJ. 

,e;j itg;gpd; tpisT tl;b tPjj;jpid (effective interest rate)  fzpf;Ff. 

tpdh 04 

xU cw;gj;jpahsh; Fwpg;gpl;l xU nghUis rpy;yiw tpw;gidahsUf;F 25% ,yhg 

vy;iy (profit margin) itj;J tpw;gid nra;tJld;> rpy;yiw tpw;gidahsh; mtw;iw 

jkJ thbf;ifahsUf;F 20% ,yhgj;jpy; (mark-up) tpw;gid nra;fpd;whh;. ,e;jg; 

nghUspd; tpw;gidahy; rpy;yiw tpahghup &gh 120,000 ,yhgk; ngw;why;> 
cw;gj;jpahsUf;F me;jg; nghUspd; fpuaj;ij fzpf;Ff.    

 

tpdh 05  

25 ehl;fshf cw;gj;jpg; nghUs; P apd; jpdrup tpw;gid myFfs; x gw;wpa kPbwd; 

guk;gy; fPo;tUk; ngWkjpfis nfhz;bUf;ff; fhzg;gl;lJ:  (Σ fx)
2 

= 54289 kw;Wk; Σfx
2 

= 

2213.  ,q;F f vd;gJ kPbwd;. cw;gj;jpg; nghUs; P apd; jpdrup tpw;gidapd; ,ilk 
w;Wk; epak tpyfiy (myFfspy;) fzpf;Ff. 

tpdh 06 

01.01.2016 jpfjpapy; ngw;w &gh 500,000 flid 31.12.2016 jpfjpapw; njhlq;fp 5 rkkhd 
tUlhe;j jtizf; nfhLg;gdTfspy; (tl;bAld; Nrh;j;J) jpUg;gpr; nrYj;j Ntz;Lk;. 

,e;jf; fld;kPJ Mz;bw;F 15% tl;b nrYj;j Ntz;Lk;. tUlhe;j jtizf; 

nfhLg;gdtpd; ngWkjpiaAk;> 31.12.2016 jpfjp Kbtilej Mz;bw;fhd tl;biaAk; 
fzpf;Ff 
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tpdh 07 

nkhj;jf; fpuar; rhh;G TC(x) = 22x + 50,000 MfTk; tUkhdr; rhh;G R(x) = 32x MfTk; 

,Ug;gpd; rkg;ghl;Lg; Gs;spia (break-even point) fzpf;Ff. (,q;F x cw;gj;jp 
myFfspd; vz;zpf;if MFk;). 

tpdh 08 

xU Fwpj;j nghUspd; tUlhe;j Nfs;tp 100,000 myFfs; MFk;.  xU nfhs;tdTf; 

fl;lis jahupg;gjw;F Vw;gLk; fpuak; &gh 2,500.  xU myfpid xU Mz;bw;F 

itj;jpUg;gjw;fhd fpuak; &gh 225. 

(a) cj;jk fl;lis fzpaj;jpid fzpf;Ff. 

(b) itj;jpUj;jw; fpuak; mjpfupf;Fk; mNjNtis Vida fhuzpfs; khwhJ 
,Ug;gpd;> fl;lisapd; mstpy; Vw;gLk; jhf;fk; vd;d?  

tpdh 09 

guPl;ir xd;wpy; khzth;fs; ngw;w Gs;spfs; ,il 55 Gs;spfSk; epak tpyfy; 15 
Gs;spfSkhf cs;s nrt;td; guk;gyhf cs;sJ. ,e;jg; guPl;irapy; rpj;jpaila 50 
Gs;spfs; ngwNtz;Lk;/ guPl;irapy; rpj;jpailaj; jtwpa khzth;fs; tpfpjhrhuj;ij 
fzpf;Ff.   

tpdh 10 

xU fk;gdpapd; mLj;j Mz;bw;F vjph;T$wg;gl;l ,yhgk; / (el;lk;) njhlh;Ggl;l 

epfo;jfTfSld; fPNo jug;gl;Ls;sJ: 

   ,yhgk;/ (el;lk;)  epfo;jfT 

   &gh 5 kpy;ypad; ,yhgk;    0.30 

   &gh 2 kpy;ypad; ,yhgk;    0.45 

   &gh 3 kpy;ypad; el;lk;    0.25 

Mz;bw;F vjph;ghh;f;fg;gLk; ,yhg / el;lj;ij fzpf;Ff. 
 

tpdh 11 

xU fk;gdpapd; fhyhz;L tpw;gidfs;  Y = 6t – 2.5 vDk; Nghf;Ff; Nfhl;lhy; (trend 

line) jug;gl;Ls;sJ. ,q;F Y MdJ &gh’000 fspy; tpw;gidiaAk;> t MdJ 2015 

Kjy; fhyhz;il t = 1 Mf nfhz;L fhyj;ijAk; Fwpf;fpd;wJ. ngUf;fy; Kiwapd; 

mbg;gilapy; xU Fwpg;gpl;l Mz;bd; ,Wjpf; fhyhz;bd; gUtfhy khwp (seasonal 

variation) + 4% MFk;. 2016 Mz;bd; ,Wjpf; fhyhz;bd; tpw;gidia kjpg;gpLf. 
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tpdh 12 

xU fk;gdp jdpahd nghUs; xd;wpid cw;gj;jp nra;fpd;wJ. fPOs;s jfty;fs; 
jug;gl;Ls;sd:  

tUlhe;j epiyahd fpuak; = &gh 840,000 

etk;gh; 2015-  400,000 myFfSf;fhd nkhj;j cw;gj;jpf; fpuak; =  &gh 2,270,000 

brk;gh; 2015-   420,000 myFfSf;fhd nkhj;j cw;gj;jpf; fpuak; =  &gh 2,380,000 

,e;jg; nghUspd; mtnfhd;wpd; tpw;gid tpiy &gh 7 Mf khwhJs;sJ. 

rkg;ghl;Lf; fzpaj;jpid (break-even quantity) fzpf;Ff. 
 

tpdh 13 

,U Mz;LfSf;fhd %d;W gz;lq;fspd; ruhrup tpiyfs; kw;Wk; Mz;bw;fhd 

Efh;Tfs; fPNo jug;gl;Ls;sd: 

 gz;lk;  Mz;bw;fhd  tpiy/myF  tpiy/myF 

   Efh;T   2010   2015 

 A  120 myFfs;  &gh 40  &gh 42 

 B  180 myFfs;  &gh 50  &gh 51 

 C  250 myFfs;  &gh 100  &gh 105 

2010 Mk; Mz;bid mbg;gil Mz;lhff; nfhz;L 2015 Mk; Mz;bw;fhd rhh;Gr; 
Rl;bapd; (relative index) epiwNaw;wpa ruhrupia fzpf;Ff.  

tpdh 14 

xUth; njhlh;e;J 4 Mz;LfSf;F xt;nthU Mz;Lk; &gh 10,000 ,id xU itg;Gf; 

fzf;fpy; itg;Gr; nra;fpd;whh;. Mz;bw;fhd tl;b tPjk; 10% vdpy;> Ie;jhtJ Mz;L 
Kbtpy; itg;gpd; ngWkjpia fzpf;Ff.   
 

tpdh 15  

Mz;bw;F 10% $l;Ltl;bf;F Ie;jhtJ Mz;bd; Kbtpy; &gh 500,000 ngWtjw;F 
jw;NghJ KjyPL nra;aNtz;ba njhifapid fzpf;Ff.    

tpdh 16  

xU Fwpj;j nghUis cw;gj;jpnra;Ak; fk;gdpapd; rkg;ghl;Lf; fzpak; (break-even 

quantity)  20,000 myFfs;. epiyahd fpuak; &gh 300,000 MfTk;> mynfhd;wpd; khWk; 

fpuak; &gh 40 MfTk; cs;sJ.  nghUspd; tpw;gid tpiyia fzpf;Ff.. 

tpdh 17 

xU fk;gdp mjd; nghUl;fis 2- khj fld; mg;gilapy; tpw;gid nra;fpd;wJ. 

cldbf; nfhLg;gdTf;F 2% foptpid tpw;gid Kfhikahsh; Kd;nkhopfpd;whh;. 

fk;gdpapd; %yjdf; fpuak; 12%. cupa fhuzq;fis fhl;b Gjpa Kd;nkhopT fpua 

tpisTj;jpwd; (cost effective) cilajh vdf; $Wf.  
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tpdh 18 

xUth; &gh 100,000 ,id itg;Gj; jpl;lnkhd;wpy; itg;Gr; nra;jhh;. Mz;LNjhWk; tl;b 

KjYld; Nrh;f;fg;gLk; (compounded). mth; ehd;fhtJ Mz;bd; ,Wjpapy;; &gh  136,050 

,id ngWthuhfpy;> ,e;j itg;gpw;F cupa tl;b tPjk; vd;d?   

tpdh 19 

xU nghUis cw;gj;jpnra;a cw;gj;jpahsDf;F mynfhd;wpw;F &gh 150 fpuak; 
Mfpd;wJ. me;jg; nghUspd; cah;e;jgl;r rpy;yiw tpw;gid tpiy mynfhd;wpw;F &gh 

198 MFk;. rpy;yiw tpw;gidahsUf;F 10% ,yhgk; (mark-up) fpilf;Fk; tifapy; 
cw;gj;jpahsh; rpy;yiw tpahghupfSf;F mtw;iw tpw;gid nra;fpd;whh;. cw;gj;jpahsh; 
,e;jg; nghUl;fis re;ij tpiyapy; Neubahf Efh;NthUf;F tpw;gid nra;jhy;> 
cw;gj;jpahsdpd; ,yhg mjpfupg;Gr; rjtPjk; vd;d?   

 

tpdh 20 

Kfg;ngWkjp &gh 100,000 cila 6-khj Nrkpg;Gr; rhd;wpjo; jw;NghJ &gh 94,340 f;F 
toq;fg;gLfpd;wJ. ,e;j Nrkpg;Gr; rhd;wpjopd; tl;b tPjk; vd;d?   
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FWfpa tpdh tpilfs;  

tpdh  01 

3 Mz;L Kbtpy; itg;gpd; ngWkjp = 100,000 (1 + 0.08/2)
6 

      = 100,000 (1.04)
6
 

      = &gh 126,531 

tpdh  02 

brk;gh; 2015 guPl;irapy; rpj;jpngw;Nwhh; rjtPjk; = 160/400 * 100 = 40% 

brk;gh; 2015 guPl;irapy; rpj;jpngwj; jtwpNahh; rjtPjk; = 100 – 40 = 60% 

[™d; 2015 guPl;irAld; xg;gpLifapy; ,J 20% mjpfupg;G 

vdNt> , [™d; 2015 guPl;irapy; rpj;jpngwj; jtwpNahh; rjtPjk; = 60% * 100/120 = 50% 

‚ [™d; 2015 guPl;irapy; rpj;jpngw;Nwhh; rjtPjk; = 50% 

[™d; 2015 guPl;irapy; rpj;jpngw;Nwhh; vz;zpf;if = 440 * 50% = 220 guPl;rhh;j;jpfs;. 

 

tpdh  03 

xU 3-khj itg;G 3 khjj;jpy; Kjph;tilAk;  (mjhtJ tl;b KjYld; $l;lg;gLk;) 

12% tUlhe;j tl;b vd;gJ> fhyhz;bw;F 3% tl;b. 

itg;Gj;njhif &gh 100,000 vdf; nfhs;f. 

1 Mz;L Kbtpy; ,e;j itg;gpd; ngWkjp = Rs. 100,000 (1.03)
4 

= 112,550 

‚tUlhe;j tpisT tl;b = &gh 12,550 

tpisT tl;b tPjk; = (12,550/100,000) * 100 = 12.55% 

 

tpdh  04 

      25% ,yhgk;                         20% ,yhgk; 
 cw;gj;jpahsh;  rpy;yiw tpahghup            Efh;Nthh; 

rpy;yiw tpahghup &gh120,000 ,yhgkilapd; mtupd; nfhs;tdTf; fpuak; =  

                                                                                      120,000 * 100/20 = &gh 600,000 

mjhtJ cw;gj;jpahsh; rpy;yiw tpahghupf;F &gh 600,000 f;F tpw;wpUg;ghh;. 

vdNt cw;gj;jpahsUf;F fpuak; = &gh 600,000 * 100/125 = &gh 480,000 

tpdh  05 

(Σfx)
 2 

= 54,289. vdNt>  Σfx = (54,289)
½  

 = 233 

‚ ,il=    Σfx / n   =   233 / 25 = 9.32 

  epak tpyfy; =   [(Σfx
2 

/ n) – (Σfx / n)
 2
]

½ =
 [2213 / 25 - 9.322]

½ =
   

              = [88.52 – 86.8624]
1/2

=1.287 
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tpdh  06 

tUlhe;j jtizf; nfhLg;gdT P vdf; nfhs;f. 

rfy jtizf; nfhLg;gdTfspd; PV = P * 5 Mz;LfSf;F jpus; fopTf; fhuzp @ 15%  

             = P * 3.352        (ghh;f;f: fopTf; fhuzp ml;ltiz) 

,J fld; njhifahd &gh 500,000 f;F rkdhFk;. 

vdNt,   P =   500,000 / 3.352   = &gh 149,165 

31/12/2016 ,y; KbTw;w Mz;bd; tl;b(KjyhtJ Mz;L) = &gh 500,000 * 15%  

                                                                                                        = &gh. 75,000.   

tpdh  07 

nkhj;jf; fpuar; rhh;G TC(x) = 22x + 50,000 

tUkhdr; rhh;G R(x) = 32x 

Nkw;gb rkd;ghl;bypUe;J epiyahd fpuak; = &gh 50,000  

xU myfpd; gq;fspg;G = tpw;gid tpiy – khWk; fpuak; = 32 – 22 = &gh 10 

rkg;ghl;Lg; Gs;sp =  epiyahd fpuak; / myFg; gq;fspg;G = &gh 50,000 / &gh 10  

                                                                                                      = 5,000 myFfs; 
 

tpdh  08 

(a) rpf;fd fl;lisf; fzpak; (EOQ) = (2 D Co / Ch )
½  

=  ( 2* 100,000 * 2,500 / 225)
½ 

           = 1,491 

(b) gpd;dj;jpd; gFjpnaz; (Ch) mjpfupf;Fk;NghJ gpd;dj;jpd; ngWkjp 
Fiwtiltjdhy;> EOQ tpd; msTk; FiwtilAk;. 

 

tpdh  09 

 

          

      

                                                                 50    μ=55 

      δ= 15 

Z score = (x – μ) / δ     =    (50 – 55) / 15 = 0.3333 = fpl;lj;jl;l 0.1293 

vdNt> guPl;ir rpj;jpngwj; jtWk; tpfpjhrhuk; = 0.5 – 0.1293 = 0.3707 my;yJ  37.07 % 

tpdh  10 

ntspg;ghL  njhif       epfo;jfT   vjph;ghh;g;Gg; ngWkjp 

,yhgk;  &gh 5 kpy;ypad; 0.30  &gh 1.50 kpy;ypad; 

,yhgk;  &gh 2 kpy;ypad; 0.45  &gh 0.90 kpy;ypad; 

el;lk;   &gh 3 kpy;ypad; 0.25            (&gh 0.75 kpy;ypad;) 

vjph;ghh;f;fg;gLk; ,yhgk;  &gh 1.65 kpy;ypad; 
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tpdh  11 

  Nghf;F = 6t – 2.5   ,q;F>  2016 Mz;bd; ,Wjpf;fhyhz;by; t = 8 

 vdNr> Nghf;F = 6*8 – 2.5 = &gh 45.5 * 1,000 = &gh 45,500 

 2016 Mz;bd; ,Wjpf; fhyhz;bw;F vjphT$wy; = &gh 45,500 * 1.04 = &gh 47,320   

 

tpdh  12 

400,000 myFfs; cw;gj;jp nra;a nkhj;jf; fpuak; = &gh 2,270,000 

420,000 myFfs; cw;gj;jp nra;a nkhj;jf; fpuak; = &gh 2,380,000 

‚ 20,000 Nkyjpf myFfis cw;gj;jpnra;a fpuaj;jpy; mjpfupg;G = &gh 110,000 

‚ mynfhd;wpw;fhd khWk; fpuak; = &gh 110,000 / 20,000 myFfs; = &gh 5/50 

vdNt> rkg;ghl;lf; fzpak; =   epiyahd fpuak; / myFg; gq;fspg;G = 840,000/ (7 – 5.5) 

       =   560,000 myFfs;. 

tpdh  13 

gz;lk;  tpiyr;rhh;G epiw   epiwNaw;wpa ruhrup 

A  42/40   120/550      0.2291 

B  51/50  180/550  0.3338 

C  105/100 250/550  0.4773 

       1.0402 

epiwNaw;wpa ruhrup rhh;Gr; Rl;b = 104.02 

 

tpdh  14 

5 MtJ Mz;L Kbtpy; itg;gpd; ngWkjp =   (10,000 * 1.1) (1.1
4 

– 1) / (1.1 – 1) *1.1 

      = 11,000 * 0.4641 / 0.1 *1.1 

      = &gh 56,156 

tpdh  15 

ePh; KjyPL nra;aNtz;ba njhif a vdf; nfhs;f 

5 MtJ Mz;L Kbtpy; ngwNtz;ba njhif = a * (1 + 0.1)
5 =  

1.61051 a 

i.e,   1.61051 a = Rs. 500,000 

vdNt, a = Rs. 310,461 

 

tpdh  16 

rkg;ghl;Lf; fzpak;      =       epiyahd fpuak;         
    mynfhd;wpd; gq;fspg;G    

  i.e,      20,000    =     300,000 /  P  -  40 

 vdNt>  P = &gh 55 
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tpdh  17 

&gh 1,000 fld; tpw;gidf;F 2 khj epjpaspg;gf; fpuak; =  &gh 1,000 * 12% * 2/12 

        = &gh 20 

Cldbf; nfhLg;gdtpw;F fopTf; fpuak; = &gh 1,000 * 2% = &gh 20 

vdNt> Gjpa Kd;nkhopT ,Ug;gpYs;s 2-khj fld; fpuaj;jpw;F rkdhFk;. mijtpl 
rpwe;jjy;y. 

 

tpdh 18 

tl;b tPjk; r vdf; nfhs;f 

4 MtJ Mz;bd; Kbtpy; ngWkjp = 100,000 * (1 + r)
4 

vdNt, 136,050 = 100,000 * (1 + r)
4 

(1 + r)
4  

=  1.36050   =>  1 + r  =  1.08 

vdNt> tl;b tPjk; = 8% 

 

tpdh  19 

       cw;gj;jpahsUf;F  rpy;yiw tpahghupf;F      Efh;NthDf;F 

fpuak;:   &gh 150  (100/110) * 198 = &gh 180 <=   &gh 198 

‚   rpy;yiw tpahghupf;F tpw;Fk;NghJ cw;gj;jpahsdpd; ,yhg tPjk;    

                                                           = [(180 – 150) / 150] * 100 = 20 % 

 Neubahf Efh;NthDf;F tpw;why; ,yhg tPjk; = [(198 – 150) / 150] * 100   = 32 % 

vdNt ,yhgj;jpy; rjt\pj mjpfupg;G = [(32 – 20) / 20] * 100 = 60% 

 

tpdh  20 

elg;G tpiy = &gh 94,340 

6 khjj;jpy; Kjph;Tg; ngWkjp = &gh 100,000 

tl;btPjk; R vdpy;> 6 khjq;fspy; Kjph;Tg; ngWkjp = 94,340 (1 + R/2) 

MfNt (1 + R/2) =   100,000 / 94,340   = 1.06 

i.e, R/2 = 0.06 

R = 2 * 0.06 = 0.12   my;yJ 12% 


